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" Answer anj;"ﬁ;é questi:or{s
All questions carry equal marks

-

A stone is thrown from a 4 m high building and at its highest flight, the stone just crosses

the_top.of a 10 m.high tree from.the ground. Trace the, path of.the projectile, if.the ...

horizontal distange bétween the building and the_tree! is 5 m. Fmdthe distance of thé

pointfrom the building where the stene-falls on the ground:’ S S § <] -

OR

* Draw a hypocycloid generated by a rolling circle of 60 mm diameter for one complete

revolution. The radius of the directing circle is 100 mm. draw a tangent and a normal to
the hypocycloid at 50 mm from the centre of the directing circle. [15]

. L ' Max, Marks75

Draw thé-projection of twa points on'thé same reférerice Titie, point/C being 15 mm belgw

VP, .
The top view of a 75 mm long line measures 50 mm. the end P is 15 mm above HP and
50 mm in front of VP. The end Q is 20 mm in front of VP and above the HP. Draw its

projections and determine its true angles and apparent angles with the reference planes.
’ [5+10]

......... — 'OR

Atrlamfular plaxzzze?{é(? .ffas its 70m ¢! Iqrig base AB,anda 100 mm”: ipng altltudeThe -

=

base i5on the HP and inclined at 30° i ti% VP, The platie’ts inclined to the HP in such a
manne: that AC_lies on a plane perpendicular to both the HP and VP. Draw ihe
projections of the plane and find its inclination with HP. [15]

A hexagonal prism having a base with 25 mm edge and 60 mm long axis, has an edge of
gits...pq_se-:i,r__l the V?..ar}d._,is..i_pclinediat‘.ﬁl()f..to..\HP. Dr@w@tg_.projection;suwbqn..thp edge g.ﬁ.thq_..
other basé farthest away from the VIS at & distange 0fi70 mim from the!VP. [£5).7¢

- A square pyramid having a base with a 40 mm side and 60mm long axis rests on one of

its triangular faces on the ground. The top view of the axis makes an angle of 30° with the
VP. Draw the final projections of the square pyramid. [15]

A square prism, having a base with a 40mm side and a

ﬂ}EHPWIth edges;of the base équally ificlined fo th¢ VB, Draw front vigw, sectiorial ™.
fop view.and trué Shape of the se¢tion when it is clit by'an-A.LP., stich that the true shape.

of section is Equilateral triangle with a 45 mm side. : [15]

' OR ,
A vertical square prism having its faces equally inclined to VP is completely penetrated
by a horizontal cylinder, the axis of which is parallel ® VP and 6 mm away from that of
the prism. Draw the projections of solids showing curves of intersection. The length of

ﬂlesldeof the b@‘é“g@th‘é*prism |§50 rpﬁi“a,nd the ;di‘iimgtét"qf the clmderxs40 mm[lS]
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- HP and 50 mm {ii Tront of VP andpoint.D being 25 mm.above HP and 46 mm behind,_ -/

70 mm axis, rests on its base on



@ Draw the front view, top view and right side view in the first angle projection of the
following solid. Figure — 1 (All dimensions are in mm)

TOPVIEW.

Figure -2
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